


Exercise 9.1

4(b) prove that, 
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Exercise 9.1 

5 (b) Simplify, 
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Exercise 9.1 

5 (d) Simplify, 
�

������������� +
�

������������ +
�

������������� 



Exercise 9.1 

5(f) Simplify, 
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Poll Question 1 

Poll Question 01

(a)  (a+b)n = an + bn

(b)  (am)n = am+n

(c)  a0 = 1

(d)  all

which one is correct? 



Exercise 9.1 

6 (a) If � = ������, � = ���� ��, � = ������, then show that, ���� . ����. ���� = 1



Exercise 9.1 

6 (b) If �� = �, �� = �, �� = �, then show that, ��� = 1



Exercise 9.1 

7 (a) If �� � + �� � + �� � = 0, ��� �� = ��, then show that, ��� + ��� + ��� = 3����



Exercise 9.1 

7 (b) If � = (� + �)
�

�+(� − �)
�

�, ��� �� − �� = ��, �ℎ�� �ℎ�� �ℎ��, �� − 3�� − 2� = 0



Poll Question 02

(a)  x = 3y

(b)  x = 3+y

(c)  x = 3y

(d)  x = y3

If 2� = 2� �, then which one is correct? 



Exercise 9.1 

7 (c) �� � = 2
�
� + 2�

�
�, �ℎ�� �ℎ�� �ℎ��, 2�� − 6� = 5



Exercise 9.1 

7 (d) �� �� + 2 = 3
�
� + 3�

�
�, �ℎ�� �ℎ�� �ℎ��, 3�� + 9� = 8



Exercise 9.1 

7(e) �� �� = �� than show that, 
�

�

�

�
+

�

�

�

�
= �

�

� + ��
�

�



Exercise 9.1 

7 (g) �� � + � + � = 0, then show that, 
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Exercise 9.1 

8 (b) ���� = �� = �� ��� ��� = 1, �ℎ�� ���� �ℎ� ����� ��  �� + �� + ��



Poll Question 03

(a)  0

(b)  1

(c)  xyz

(d)  a
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= ?



Exercise 9.1 

8 (c) �� 9� = 27�, �ℎ�� ���� �ℎ� ����� ��
�

�



Exercise 9.1 

9 (a) �����, 3���� + 27��� = 36



Exercise 9.1 

9 (b) �����, 5� + 3� = 8, 5��� + 3��� = 2



Exercise 9.1 

9 (c) �����, 4���� = 16���� = 9����




